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3. ytax=e" ,ﬁ?ﬁﬁ’:dx,dxz R

Mathematica 1]

Clear[F,y]

F[x_]: =y[x]+x-Exp[xxy[y]]
equl = D[F[x] == 0, x]
Solve[equl, y'[x]]

BT R

1—=e*y[y ]ty [x]==0

({y' [x]>—1+e"y[y]})
R LR B B8

Mathematica 154

Clear[F,y]

Flx_]: =y[x] +x- Exp[x* y[y]]

equl =D[F[x] ==0,x];

equ2 = D[ equl, x];

Solve[ {equl, equ2}, {y"[x],y""[x]}] //sinplify

B e
Uy [x]J=—1+eMyly],y'[x]—=e*yly]"}}
EIE LA 3.9,

x=t'"—sint dy d’y
4. & ,jk—, J—JF?%ﬁ?U NN’ E"Jﬂ:ﬁo
y=2:437 dx dx

Mathematica &/
Clear;

x[t ] : =t"4- Sin[t] ;
ylt ] : =2t+3t2;

Lh



$3E  SHESWHS

<=

Gl=D[y[t],t]/ D[x[t],t] //Simplify

G2 = D[G1,t]/ D[x[t],t] //Simplify

ParametricPlot[{x[t],y[t]}, {t, 0,2}, AxesStyle — > Arrowheads[0.04], AxesLabel —>{Style[x,
15, Bold], Stylel[y, 15, Bold]}]

Plot[Gl, {t,0,2}, AxesStyle — > Arrowheads[0.04], AxesLabel —>{Style[x, 15, Bold], Stylely,
15, Bold]}]

Plot[G2, {t,0,2}, AxesStyle — > Arrowheads[0.04], AxesLabel —>{Style[x, 15, Bold], Stylely,
15, Bold]}]

BAT 4

_ 246t

4t* —cos[ t]

2{12¢°[142t]+3cos[ t ]+[1+3t]sin[ t]}
{—4t"+cos [t]*}

B W& 3. 10 FIA 3. 11,

7

X : - -x
0.5 1.0 1:5 0.5 0 1.5
5 10
K 3.10 K 3,11

[43]]
1. KT H R B ) — B ek 4K
(1) y=e —*
(2) y=Insinx
(3) ———

V==
2. kwwmﬁmmﬁw dy
(1) ysinx—cos(x—7y)=0
(2) e® +sin(a?y) =»y*
5. kA EOr B R S, 4

Jx:ln(lJrlz)
@Y)
Iy:arctant

— 21
(2) jI
1y:t +1
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